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(A) O(m+n)
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F - AR FrE- - Y REMAEXR L FrE- Y REUERIR e ER
L5 -]y BEDERNY BELEE > PV LT - o At 5 ¢ w- = Af(binary
tree) v inorder(® & )traversal 7 BCDAFEHIG > * postorder(is %)
traversal ;i DCBFIHGEA - #] ¢ - = #t+ preorder( s & )traversal 3

o

pré— ¥ 39, 11, 48, 5, 77, 18, 70, 25, 55, 33 | * L £ Az (quick
SOrt) ) FI <5 » AR RiEMRY » 5- A i ks 2 2 a% b pla-bh
BHEL .

T o e fAE B oAraE id o o0& #H(Binary Search Tree)i T fi=(Balanced)?
(A) 30,20,50,5,25,41,80
(B) 5,20,25,30,41,50,80
(¢) 80,50,41,30,25,20,5
(b) 50,80,41,30,25,20,5
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7 7 #7|(Fibonacci number ) z &4 :

fo =0
fl =1
fn = fn_l + fn_z for niz

i N [ G PN S 55 ' 2 I
Frife g e meE o X6 = v e P

Y- BABEL P e R T

vy Nkl B ’,‘iﬂgiiloi—iﬁj'ﬁ ELADNE L_:IIF‘EE?’";E:","
Py Lvd 1lped 2883 3 HBEd > REE - - H D

FrervE /B 302010 THWE- BAE D TR A R R 9
(A)1-2:3:4>5-6
(B)2:5:6:3°4-1
(C)3°2:5°6-4>1
(D)4-3-2>5-1-6

BT B A E R L il S5 (recursive procedure)pF > € g 4 AR Ok 2E?
(A) fp4z i = Fl(stack out of bound )

(B) il ikl (array out of bound)

(C) i = (stack overflow)

(D) izt ix 2 (stopping case)
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24 | 6 5 0
0O | 30| O | 25
30| O 10 | 15
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PROGRAM testl;
VAR a,b,c:integer;
PROCEDURE count(x:integer; var y:integer; z:integer);

BEGIN

y = X+Zz;

END;
BEGIN

a:= 1; b:= 2; c:= 3;

count(a,b,c); count(b,c,a); writeln(a,b,c);
END.

TARNTERETRESR?
char c;
void qQ)
{
printf(“%c”,c);
}
void pQ
{
char c;
c="t";

qQ;
printf(“%c”,c);

void main()

{
="

PQO;
}
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